2025/6/27

FS AT i EE AfTH AT
AA4=29 |1357— )L M x!)—(WH/WH) 28 07/F 61
BA=24 |1357—T )L M x!)—(OAK/WH) 59 07/F 62
4= |1357—2 )L MIx!)—(BK/BR) 34 07/F 12
BA=24 [100RF M x!)—(WH) 86 07/F 123
HA4=29 |[100RVF M x!)—(BR) 37 07/F 12
FA=2Y |BEHFOHA M xl)—(WH) 174 07/F 252
FA=VY |BEZFOHA M 1z)—(BR) 68 07/F 24
FA=24 | 15-120BEXT-7 )V VI —X(BR)EZE 0| B

4= [120-150EXT-7 11 ZIL—XBREE 0| B

FA=2) |BEBFOHA  JIL—X(BR)EE 1| B

FA=24 [120-150 KX T-7 1V ZIL—X(WH)BEE 10

FA=24 | 15-120BEXT-7 1V I —X(WH)EE 0| B

FA=2) |BEBFOMA  JIL—XWH)EE 2

FA4=24 |180F7—7T )L ETO(NA) 31

HFA4=24 |140T7—T )L ETONA) 17

FA=24 [150F EIAONA) 44

BA4=245 [110RVF  ETANA) 22

FA=2) |BEZRFORA EIONA) 115

S4=2%4 |180T7—7 )L ETOBR) 15

BA4=2% |1407—7 )L ETOBR) 36

BA4=24 [150RVF EIABR) 15

F4=24 [110_RF EFxABR) 39

T4V |BEZFORHA EIOBR) 148

BA=Z24 |180T7—7 )L ETO(WH)EHE 0| BEfg

SFA4=24 |1407—7)L ETOWH)EE 3| g

FA=24 |[150" F EIOWH)ERE 4|

HBA=Z20 [110RVF  ETOWH)ERE 3

FA=2) | BEZFORA EIOWH)ERE 0| B

BA=24 |200T7—T )L RZ/N/K)22(NA)2{ER 12 07/t 5
BA=24 [1507—T )L AR//R)2aT(NA)2{ERD -10 07/t 20
FA=2Y | BEBTFORA RX/A(NA) -14 07/t 80
BA=24 |2007—T )L AR/N/R)21T7(BR)2{ER 2 07/t 5
FA=24 |150T7—T )L RZX/\/K)212(BR)2{ERN -1 07/t 20
BAZ Y |BEBHFOHA NX/\(BR) 96 07/t 20
B4V | BEBFORIA RJ1T(NA) 33 07/t 80
BAZ—2Y |BREBHFORA )1 T(BR) 63 07/t 20
FA=2) |BEZFFORIA K)17(BK) -48 07/t 120
BA=2% |160T7—TIL  T—F(NA) 11

BAZ2Y |[120RF T—F(NA) 10

BAZ2g |BREBFOHA  T—F(NA) 11 07/t 50
4= |1607—2I)L —F(BR) 22

BAL=28 [120RF —4(BR) 40

FA=2 ) |BEZFFOHMA P—F(BR) -13 07/t 50
S4=24 |1657—TIL FvY(BR) 5 7H18 20
FA4=24 |1207—T )L  Fv2(BR) -2 7818 30
BAZ 9 |BREBFOHA FvI(BR) -79 7818 240
BA=24 [1656T7—TIL  FyH(NA) 11 7818 20
BA=24 [1207—T )L FyI(NA) 31 7H18 30
FA=2) |BEBTFORA  FyI(NA) 137 781H 240
S4=2%4 |1357—JI)L  /F7—IL(BE) 6 7H118 30
BA4=2% |1050T—TIL /7—IL(BE) 32

SA=24 |[100RVF ) 7—IL(GY/BE) 29

FA=2Y |BERFOHA /7—IL(GY/BE) 117 7B11H 30
SA4=24 |1357—TJ)L  /7—IL(WH) 31

KA YA I=



2025/6/27

AR % EE AT H AT
BA=2% 1050 T—TI)L /F7—IL(WH) 6 78118 30
BA=24 [100RVF J7—)LIMGN/WH) 26
FA=2Y |BEZFOMA  /7—ILIMGN/WH) 5 7H118 126
BA=24 [1656T7—T)L Tz H—(NA) 21
HBA=20 |1207— )L TxH—(NA) 36 07/t 20
F4=24 | 80F—T )L  TxH—(NA) 15 07/t 50
FA=2Y |BEBFOHA  TxH—(NA) 122 07/t 50
FA4=24 |16567—J)L TxH—(BR) 5 07/t 20
HA4=29 |1207—2 )L T4 —(BR) -7 07/t 10
F4=24 | 80F—JI)L TxH—(BR) -10 7818 29
FA=2) |BEBFORMA T4 —(BR) -37 07/t 200
SA4=2% |180T7—T )L  J/N—R(BR) 0 07/F 15
4= |1507—2 )L JI\—R(BR) 9 07/F 15
BA=24 [146RF 1J/N—R(BR) -1 07/F 30
A=Y |125RF 1J)N\—Z(BR) 35 07/F 30
BAZ2 |BEBHFORIA )J/\—AR(BR) 93 07/F 40
HBA4=24 |180T7—IL  1J/INA—A(NA) 12 07/F 15
BAZ24 |1507—=T )L YN—RA(NA) 2 07/F 15
A=Y 145 F 1J7A\—Z(NA) 18 07/F 30
BAL=28 [126RVF 1J/A—R(NA) 13 07/F 40
FA=2) |BEZHFOHA  U/A—X(NA) 51 07/F 80
BA=2% 12107—=TI)L LA X(NA) 12
HA4=24 |1507—T )L LA RX(NA) 8
BA=Z24 | 90T7—TIL LARX(NA) 13
A= |[170RVF L1 X(NA) 17
BA=24 [120RF L4 X(NA) 17
FA=2T |RABFORA L4 X(NA) 51
FAZ2Y |HEBHFORA  LAX(NA) 107
SA4=24 |12107—TI)L LA4RX(BR) 12
BA4=2% |1507—T )L LAX(BR) 24
HA4=25 | 907—TI)L LA4X(BR) 17
BA=H [170RF L4 X(BR) 15
A=Y |120RF L1 X(BR) 2
BA=Z 9 |RABHFORMA LAX(BR) 105
T4V |HEZFORA LA4XBR) 112
BA=2% |190T7—T )L #L#A(BK) 19
HBA=20 |1407—7 )L AL A(BK) 21
BA4=2% | 90F7—T )L AL A(BK) 16
BA=24 |[160RF  FLABK) 3
BAL=25 [110RVF AL ABK) 22
FA=2) |BEZFFORA A L4BK) -16 07/F 150
HA=24 1240T7—TIL TAX(NA) -2 7H3H 15
FA=24 |180T7—T )L TAX(NA) 6 7838 10
BA=24 [1407—T I TARX(NA) 0 7H3H 10
HFA=24 1240T7—T )L TA4X(BR) 10 7838 15
F4=24 [1807—T I TARX(BR) 17 7838 20
HFA4=24 |140T7—T )L TA4X(BR) 13 7838 10
BA=2% 200" F  TAXBKINA/BR)E -5 7838 30
BA=2 |145_RF TAAXBKINA/BR) @& 28 07/F 30
BA=2% [100RF  TAXBKINA/BR)E 3 7838 30
FA=2Y | BEHFOHA T4 XBKINA/BR)H & 125 7H3H 200
S4=24 |1507—TI)L FLUFINAQERA 26
BAZ24 [116R_RF  JLUF(NA) 23 07/t 3
FA=2Y |\ BERF TLOF(INA)DRIA 46 07/t 6
2 HRXEHThA ITE



2025/6/27

FS AT % EE A% H ATTE
H4=24 |1507—T )L JLUFBR)QEO 17
BA=24 [116R_RVF JLUF(BR) 14 07/t 3
BA4=2Y |BEHBF JLUF(BRQBIA 28 07/t 6
FA4=2) |1507—2)L TJLUFBEQEO 1
BA=29 |116R_VF JLUF(BE) 2 07/t 3
TA=2Y | BEBF LU F(BE)QRIA -8 08/t 60
HA4=29 |1357—2 )L F7HT7(BR) 37
BAZ2 |90-1200KT-7 )V 7Y T7(BR) 4
FA=2Y |BEBFOHMA T7UT7BR) 256
BA4=24 [13557—T )L F7HT(NA) 40
FAZ2 |90-1200KT7-7V T7HOT(NA) -7 07/F 40
FA=2Y |BEZRFOHA  TUT7(NA) 248
A= | 1R X7 (BK) 29 7838 50
BA4=24 |1657-7' I LI E/AR/RE2—2 1(BR) 49
SFA4=24 |1357-7 LIE/AO/RE3—2 1(BR) 34
FA4=24 | 8077 LI E/AO/RE—La(BR) 30
HBA4=29 |130AVF LIE/AO//R3—2a(BR) 35
BA4=24 |105AVF LIE/AA/RE—21(BR) 49
FA=2Y | BEZFORIA LS F (BR) 75
FAZ2Y | BEBHFORA #0(BR) 114
HFA=24 |1657-7 I LIE/AO/RE—2 1(NA) 0 78118 40
BA=24 |[1357-7' I LI E/ARQ/RE—T 1 (NA) 81
SFA4=24 | 80T-7 I LIE/AO/RE—T 1(NA) 25
BA=24 [130AVF LIE/AA/RE— 1(NA) 58
HBA=29 |105AVF LIE/AO/RE—Ta(NA) 81
FAZ2Y | BEBHFORA LS E (NA) 0
FA=2) |BEZRFORIA #0(NA) 66 7B11H 100
SA=2% 11407-7V FS5FFBKQEAD 31
BA=24 114077V S5+ (WH)QED 50
BA=24 |1407-7' )V FS5FF(GY)QEOEE 1
FA=2Y |BERF U535 GY)QRIA 193
BAZ2Y |BRERBF 554+ 5 (BRQDBIA 98
BA=24 1200 F7—T IV H9—H—(WH)QEDO 30 07/th 20
BA=24 1200 T7—T IV 9—H—(GY)DEA -1 07/t 30
FA=2Y | BERBF NY—H—(GY) QI A 5 07/ 60
FA=Y |\ BERF NY—H—(BLYQMI A 1 07/th 100
etc. 1200 7—7 )L H—H—[ElERH#E(WH) -2 07/ 30
etc. 1200 T7—7 )L H—H—[EIERHE(GY) -1 07/ 30
FA=2) |BEZFORA TURXLGY 0
FA=— Y |BREHFORMA U RRABK 0
SA4=29 |1357— )L Ox//\BK) 14
BA=2% |13557—T )L oz //\(WH) 11
FA=2Y |BEBF 21/ 1\BK)QBIA 83
BAZ Y |BRERTF 21 //\(WH)QRBIA -24 7H48 90
FA4=24 [180F7—T L ——+(GY)QED 7
SA4=24 |180T7—T )L ——4+(WH)QEDO 2
B4=24 [1357—T )L ——HGY)QEQD 36
HA4=29 |1357—T )L ——HWH)QEQD 23
FA=2) | BEHFEE) ——FHBKRIA 87
FAZ g |BREBFEE) ——F1IV)QRIA 23
FA=2y | BEHF(EER)=——F(BK)QM A SWIVEL 191
FAZ2y | BEHF(EER)——FIV)QR ASWIVEL 65
HA=2% |150-180KT-7V #FR)(DGY)DEAO 40
FA=29 |150-180KT-7' IV RFARIJWHOEOD 17

3

KA YA I=



2025/6/27

AR % EE A% H ATTE
HBAZ20 |120RF A7 RI(GY) 18

BA=25 120 F +7HR(BR) 3 07/th 20
FAZ Y | BEBF F7HR)(GY) QDRI A 15 07/ 60
FA=2Y | BEBF X7 HRJBRQBIA 154

BA4=24 13577  /—~JLIWH)QEQO 105 07/ 23
BA=24 |1357-7 0 /—A~)L(BK)QEQOE NESS

T4=24 (13577 /—R)LGY)DED 37 07/ 63
BA=24 | 9077 /—RJLWH)QEDO -15 07/th 33
TA4=5 | 9077 /—RILBK)QE OB NS

SA4=24 | 907-7' I /—RJLGY)QEDO -31 07/th 123
BA=2) |BERT /—~)L(IDGY) DRI A 231 07/t 456
FA=2Y | BEBF J—RILILGY) I A 406

FAZ Y | BEBF /—~JL(BE)QRIA 309

BA=2) |BERTF I—vILTH(GRQOMIARESE 0| B

BA=2H |BERF v—2vILHGY)QRIABRERE 2| g

BA=F |BEBF <—vI/LPUBRQBIARSE NS

BA=—9 |BEEF <—vILPUGY) DRI ABES 10[BE %

BAZ4 |1407—T)L A)F(GY)QEA 1 07/th 30
SA4=24 [1407—T )L AJEWH)QREAD 18

FA4=24 [160-2007-7 )L LyH—IT (WH)QEREE 7| B

HAA4=29 [160-2007-7 )V LyH—I(GY)DEEE 15|BEfE

TA=2Y | BERF LyH—(BK)QRIA 134

BAZ Y |BERBF LyH—(GY)QRIA 78 07/h 80
JI7— 3PYJ77— 4 X(LF:BR) 46

) I7— 3PY 77— 4 X(LF:-CAM) 22

JI7— 3PYT77— 4 X(LF-BE) 18

) I7— 2PY 77— 4 X(LF:BR) 19

JI7— 2PY 77— 4 X(LF:-CAM) 23

JI7— 2PV 77— 4 X(LF-BE) 23

Y I7— 3PYT77— 2Ax—hH—(BK) 0

Y I7— 3PYI7—  +x—hH—(GY) 0

) I7— 2P+AY=)l  AHY—FH(BLDEO 4 07/F 15
Y I7— 2P+AY=)  AY—F(YE)XDEDO 6 07/F 30
) I7— 3PY 77— FIMNV) 38

JI7— 3PV 77— FIKLBL) 51

) I7— 3PY 77— FINGY) 43 7H8H 4
Y I7— 1.5PY 77— H7krALGY) 17

) I7— x—XAVYg  HFRALGY) 17

Y I7— AY—IL  HF7ROLGY) 9

JI7— 1.5PY 77— #~7FAGY) 16

JI7— x—X0OV4g Y 7RAGY) 17

Y I7— AY—IL  HF7RAGY) 8

Y I7— 1.5PYJ7— %~H7kALBL) 9

) I7— vx—X0OVv4g  HF7kaLBL) 9

I 7— AY—JL 4 F7rALBL) 9

JI7— 3PV J7— a7 (CAFE) 0 7H88 26
JI7— 3PV J7— a7 5(BL) 0 08/t 8
Y I7— 3PYI77— a75(GR) 0 08/t 7
JI7— 3PV J7— a7 5 (BR) 0 7H8H 6
JI7— 2P J7— a7 (CAFE) 0 7H88 26
Y I7— 2PYJ7— a75(BL) -3 7H8H 10
JI7— 2PY77— a75(GR) -3 7H8H 10
JI7— 2P 77— a7 5 (BR) -1 7H8H 6
Y I7— 3PYJ7— L)L (GR) 0

KA YA I=



2025/6/27

R e £E A% H ATTE
) I7— 3PY 77— v )LIYU(YE) 0

I 7— 3PV 77— T4 )LTU(BL) 25

) I7— 3PYIJ7— Tv)LI(AV) 0

I 7— 3PV 77— I )LT(PU) 0

) I7— 3P+ST <avkSHOMIVOERQD 16

) I7— 3P+ST < a3vkSHOT)BRMEO 0

JI7— 3PYJ7— TaABE)EO -9 07/F 30
J)I7— 1P J7— FaA(BE)QE O 5

) I7— EHoviar  Tai(LGY) 1 07/F 20
Y I7— B5oviar T 174 (BE) -5 07/F 20
) I7— EBEHoviar  TFTaA(LBL) -2 08/t 10
Y I7— sIvav T 174 (GY) 15

) I7— 3PY 77— K3HUI(GY) 0

I 7— 2PY 77— KSHI(GY) 3

JI7— 2PV 77— <Iv(LGY) 0

I 7— 2PYJ7— <IvH(LGYI) 26

JI7— 2PYJ7— <y (BR) 23

I 7— 2PV 77— <v49(DGY) 0

JI7— 2PV 77— <v~(DGYI) 20

JI7— 2PV 77— LAU(LGY) 1

) I7— 2PYJ7— LA(LGYD) 2

Y I7— 2PYJ7— LZAU(BR) 33

JI7— 2P 77— LA (DGY) 0

Y I7— 2PYJ7— LA (DGYI) 16

) I7— WFG77-~A9N) DA (GY)DE O BEE 6| B g

Y I7— hF)77=AYh) Dz A(BK)QME A RS 12| Befig

) I7— 3PYIJ7— T Fa!)—(BKEE O|BEfE

Y I7— 2PYJ7— U F a1 )—(BKEE 7| B

Y I7— 3PYIJ7— T F1')—(DGR)ESE 5| g

Y I7— 2PY 07— tUFa1)—(DGR)EZE 12| g

JI7— 3Py 77— F43!)—(CAFE)S-3094 47 07/F 14
Y I7— 3PV 77— F3)—(GY) S-3094 14 07/F 15
JI7— 3PV 77— F+4A1)—(LGY) S-3094 6 07/F 12
) I7— 3Py 77— NF43!)—(BE)j TN K -10 07/F 17
) I7— 3PV 77— NF+421)—(GY)JE UK 0 07/F 17
) I7— 2PV 77— EAS—RRE 5

JI7— SP+it{FST 4L ARCAFE)1{ER 23

) I7— SP+fH{#ST 4L AKNGY) 1{An 28

JI7— SP+f{ST 4L ANLGY) 1{ER 15

Y I7— SEADF  ETHLGY)QEOA 0

Y I7— ISEADF  ETFHDGY)QEAA 0

) I7— 2PV 77— A—AXNMBE)QERAQ 22

Y I7— 2PARUF A—ZNBE)QEDO 5

) I7— AY—)L A—AKBE) 4

Y I7— 2PV 77— A—AMNV)QEDO 19

Y I7— 2PRUF A—ZMNV)QE O 15

Y I7— AY—)L A—ZKNV) 6

Y I7— Ah9FY77— TR—/(CAMQEN i 3

JI7— GIEE(E)IDF TILAH(GY)QE O 3| FEhE

) I7— ISEEEIMF TILRHGY)QE A 3| Eeng

Y I7— BEAYF X—RGY)QEQO 12 07/F 20
Y I7— gD T X—AR(MID)BLQ{E O 10

Y I7— CIEDDF E X 4(BK/CAM) 12 07/F 10
Y I7— gD T EXR(BK/GY) 24

KA YA I=



2025/6/27

AR % EE A% H ATTE
) I7— 25PY77—+AY— 274 J(GY/BE)14N 0 07/F 30
J)I7— 25PY77—+AY=I 74 J(BR/BE)14N 5 07/F 20
) I7— 2.5PY77—+AY—- 74 (BK/LGY)140 18 07/F 5
I 7— AEHE3PY 77—+ AY— R ILT(GY)DED 19

YI7—  |BRE3PY77—+ Y- N)LTa(BLAOER 6

J)I7— 3PYJ7— L% /1(BK) -7 7878 20
) I7— 2PY 77— L4 /1I(BK) 9 7878 20
J)I7— 3PYTJ7— LY /I(GY) -7 7878 30
) I7— 2PY 77— LG /I(GY) -1 7878 20
JI7— Y I 7—ARE R H—=—(BR) 57

JI7— 3P fEtE H—=—(BR) 35

I 7— 2P tE#E H———(BR) 33

Y I7— YI7—AREF Hh—=—(NA) 30 07/F 30
I 7— 3P 1 H—=—(NA) 34

) I7— 2P & H1—=—(NA) 30

JI7— 3Pyl ar H—=—(NV) 2 07/F 10
Y I7— 3PYviary H—=—(GY) 18 07/F 10
I 7— 2Pyt H—=—(NV) 16

JI7— 2Py 3y ———(GQY) 25

) I7— AY— )L AKER H—=—(BR) 32

JI7— AY—LAKER H—=—(NA) 27

JI7— AY—ILOvyay A—=—(NV) 26

JI7— AVY—ILOviay h—=—(GY) 13

) I7— hIFE)DH T4 T A TBreeze—18Q{EN 11

) I7— 2P(E)F D HT 14T 74 TBreeze—18Q{EN 18

) I7— hFEBE)DH T4 T A TBreeze—18Q{EN 9

) I7— 2P(E)F D HT 14T 74 TBreeze—18Q){EN 11

) I7— 2P ED H T4y T4 JBreeze—18Q{EM 21

) I7— AY— )LD HT 4T 74 TBreeze—18Q){EM 28

) I7— va T4 TA TBreeze—18 0

) I7— TTAILEP)YYT7— NABLESE 5|5 A%

Y I7— IUHILRP)YY T7— INAR(GREE 0| BEfg

Y I7— hHF28  TILI(CAFE)QEDO 7

) I7— AoF2sm T (BLOMERND 26

Y I7— S ¥EN D F(E)T ILF—(BK)19S40@)E R 24

Y I7— 2P(A)DH TILRS(GY)QEO 1 68308 25
Y I7— AOF(E)DH ITILRSGY)QEA -8 6 H30H 25
) I7— AY—ILDH TILRS(GY)DEO 63 07/F 20
) I7— 2PAE)DA I ILRSBE)QEAQ 1 6 5308 9
Y I7— HOF(E)DH IILRSBE)DEDO 0 68308 9
Y I7— AY—)ILDH T)LRSBE)DED -7 6 H30H 20
) I7— 2P(A)DHA ITILRFS(DBLQMED 2 07/F 10
Y I7— HOF(E)DFH TILRSDBLQED 0 6 5308 5
) I7— AY—)ILDH T)LRS(DBLQENO 5 6H30H 5
I 7— 2PAE)DA I ILRFSBRQED 8 07/F 5
) I7— HWIF(E)DFH ITILRSBRQED 10 07/F 5
JI7— AV—ILDH IILESBR)QED 20

) I7— 2P(E)DH TILRS(GY)QERA 5 07/h 20
JI7— WIFEH)DH TILES(GY)QE D 5 07/9 20
Y I7— 2P(E)DH TILRS(BE)DEA 5 07/th 8
Y I7— WOFEH)DH TILRSBE)DEA 0 07/ 8
JI7— 2P(E)DAH TJLES(DBLYDERA 5 07/F 7
YI7— |h9FE)DH TILESOBLED 8 07/F 7
JI7— 2P(E)D#H ITJLRS(BREAQD 10

KA YA I=



2025/6/27

R % EE A% H ATTE
VYI7— |Hh9FE)DOH+ IILRSBR)QED 9

J)I7— ISEENIT TILES(GY)Iyvavh) 3

) I7— [SFENDF TILREZ(BE))yYavIy) 5

J)I7— [SEERDF TILES(DBL)Y Y av(IN) 25

) I7— [SIENDF TILEZ(BR))yYavUIN) 8

I 7— ISEENDTF TILRSUNYTFT=9))9avy) 5

) I7— ISEENDF TILES(GY))vvav K 2

I 7— ISEENDF TILES(DBL) YAV K 5

) I7— ISR F TILES(BE))yavk 9

JI7— ISEENDF TILES(BR)YyYIV K 3

Y I7— SE(E)ADF A—JIV)@EDO 3 07/F 5
I 7— SE(E)ADF A—J(BK)@ED 24

Y I7— SEE)DIF A—JIV)@EDO 5 07/F 10
I 7— SEE)AIF A—JBK)@EDO 10 07/F 10
Y I7— IS F(FE)/ N FA—S(GY)DEDEE 7

Y I7— IS IEH D F(F)/ N F A—Z(BLDENE 7| B

Y I7— ISIEN D F(R)/INF A—F(GY)DENE 3| B

Y I7— ISIEADF(R)/ N F A—Z(BL@ENE 8| BEfE

) I7— 3PY77—  FJL3 (GY) 10

) I7— SPEETH L y—TJ(CAMBSED -3 08/t 38
I 7— SPEETIH P r—TJ(DGY)REO 6 08/t 42
Y I7— 1PEE)YI7— L ¥—J(CAMDED 8

Y I7— 1PEEYI7— r—J(DGY)DEA 3

) I7— 1PEFHYVI7— AWIA(BR) 3

JI7— 1PEEN 77— AT AINV) 36

) I7— 1PEFHVI7— AWIA(GY) 43

Y I7— 3PEFYI7T- +FSUJ(DGY)QEDO 12

Y I7— 2PEHYI7— FZUJ(DGY)QEO 2

Y I7— 3PEFYIF- FSUTJLGY)QEDO 14

Y I7— 2PEHYI7— FSUJ(LGY)QMEA 10

) I7— 3PYI77— TS54L(BR) 14

) I7— 2PY 07— TS54L(BR) 4

) I7— 3PYI7— TS5ALLGY) 14

) I7— 2PV 07— TS54ALLGY) 18

Y I7— 1PEEY 77— LTy 2(GY)DERD 25

Y I7— 1PEE)YI7— JU—EDGY)DEAD 6

Y I7— 1PEHYIF— JV—ELGY)DED 26

Y I7— SPEFTH ULINNyI(GY)QED 5

I 7— HEBEMFTH VLINnyI)(GY)E O 12

) I7— BEEHAEIFTH LIENy(GY)QEA 14

Y I7— HIFVI7— FYRLGY)ESE 0| g

Y I7— ADFVI7— FIEBK) EE 7| BefE

Y I7— 3P+ST kL A(DGY/NA)XDIER 0

Y I7— 3P+ST kLA U(BE)XDIERD 23

JI7— 3P+ST kL A(GY)DER 19

VYI7— |BENYF O0—SLGY)QEAOEE 5|BERE

Y I7— IENDTF N—35BK)QE O ESE 24|

JI7— 2PYJ7— EA— HFL BR 1

I 7— 3PYI77— A UHEEIK(YE) 0

) I7— 3PYI7— DA EEKMOCHA) 15

JI7— 3PY 77— A (BL) 22

JI7— 3PV 77— ALY -FAB(BR1) 0

JI7— 3PYI7— ALY -FAB(BR2) 18

JI7— 2P+2Y—=)l F—s\ (LY —FAB)LGY) 26

KA YA I=



2025/6/27

R % EE A% H ATTE
) I7— 2P+AY=)l F—/\({EIZHLV(GY) 37

I 7— 3PYI77—  F¥~RILGY) 21

) I7— 2PY 77—  F¥R)L(GY) 22

JI7— 1PYTJ7—  FRILGY)EE 0| BEfg

) I7— 3PYI77— F¥RJLGR) 16

) I7— 2P 77— F¥~NILGR) 43

) I7— 1PY 77— FH¥RILGR)ERE 3

Ny DARYE  7U9)LGY)DED 9 07/F 10
RNyR JA-oRyE  FU)LGY)RED 22 07/F 5
Ny oo Rys  FUHILGY)DE D 29 07/F 5
NyR DARyK 7 4)LBE)REO 2 07/F 10
Ny 4-R_yK  7o4H)LBE)REAQ 12

RNyR FoORyk  7UHILBEREQD 12

Ny SAYK AXRANAREO 3 08/TF 10
NyR SDAYK  AXROINA)ED 2 08/F 5
Ny DAYR AXRONA)REO 4 08/F 10
Ny D4-R_yEk  AZRRANA)QREA 5 08/F 15
Ny R SRyK  AXMAGY)RERQ 4 08/F 20
NyR SDAYK  AXFOGY)REA 3 08/F 10
Ny R DRvK  AXFAGY)RERQ -1 08/F 20
Ny D4-oR_yk  AZRROGY)REA 0 08/F 30
Ny DRyE T4y TAV)@EDO 4

NyR A= R_yK 74y TAV)DEOD 10

Ny FHRys T4)yTOV@EA 10

NyR DRyYEK 4y (GR@EDO 5

Nk A= RNYR D41)yT(GRYDIED 10

NyR FoHRys J4)yT(GRDED 8

Nk SSTwhk a4 R 2 08/ F 40
NyR Svyk AR 10 08/F 15
Nk SDVwhk a4 X 4 08/F 5
Nk DYk a4 X 3 08/F 15
Nk Y I7—RyR A4a7BK/GY)QE O 35

NyR Y I7—yR HFa7AV/GY)QE O E HE3E

NyR Y I7—A~_yK A5a7BL/GY)QE O BE 24| B

Nyk 2PY77—Ryk 34 (GY) 10

Nk 1PYI77—Ryk 234(GY) 34

Nk 2PV 77—_Ryk L34 (BK) -7 07/F 20
Nk 1PYI7—Ryk 234(BK) 6

NyR YI7—Avyk OvYz(LGY)DEO 21 07/F 26
RyR YIo7—_ykK Oyyz(DGY)DEQD 17 07/F 49
Ny R YI7—RNyk RANMGY) 94

Nk YI7—_yk RAMGR) 18

KA YA I=



